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EUROPEAN QUESTIONAIR3 
X N :  

The Aboriginal problem ex i s t s  because the Aborigines are  misunderstood - - do you agree? 
The Aborigines a re  just as'honest and public-spirited ci t izens as the 

There are  both "good11 and "bad" Aborigines as there  are  both kinds of 

The d i s l i k e  of ma 

The Aborigines are morally in fer ior  t o  most other peoplo, do you agree? 
The Aborigines should have more power ,and influence i n  tho running of 

The Aborigines are  an econoxic and social  burden t o  t h i s  country - 
Aborigines do r.ot know the  value of noncy - do you agree? 
Aborigines are just  as loyal t o  the  country i n  which they l i v e  as any 

Aborigines fa i l  t o  face up t o  responsibi l i ty  - do you agree? 
Aborigines, who s t i l l  have t h e i r  separate customs, should. give them 

The Aboriginal problem has been much exaggerated - do you agree with 

Does it worry you that the Aboriginal population is increasing a t  a 

Would you welcome an Aboriginal neighbour i n  your s t r c e t ?  
Aborigines can be r e l i e d  upon i n  anything they do - ? 
Would you work on a Committee i n  the  town f o r  t h e  welfare of 

Do you think white people a r e  happier than Aborigines? 

Europeans - do you agree? 

Australians - do you agree? 
b r i g i n a l  people is  based on prejudice, but i s  it 

jus t i f i ed?  wl- + r f  1, 

t h i s  country - do you agree? 

do you agree? 

other c i t i zens  - do you agree? 

up and become average c i t i zens  - do you agree? 

t h i s ?  

rate about twice as fast as that of the European population? 

Aborigines? 
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------------ ------------ 
Circle An swer 

The Aborigines are on t h e i r  own i n  society - because: 

Would you prefer  Aborigines t o  l i v e  on the res<mes/or i n  the town? 

(a) of s o c i a l  differences. (b) t h e i r  own inclination. 

Do you think t h a t  t he  Aborigines' generally lower standard. of l i v ing  is due t o  
(a) lower intel l igence o r  (b) i n su f f i c i en t  education. 

Most Aborigines are unskilled workers. Do you consider t h i s  due to: 

and ambition, 
(a) hereditry and environmental f m t o r s  o r  (b) the i r  own lack of i n i t i a t i v e  

U i t o  Answer 

What s o r t  of q u a l i t i e s  wodd. a ltgoodlT Aborigine have? 

23. What s o r t  of q u a l i t i e s  would a %ad1! Aborigine have? 


